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Topic:- Child Development & Pedagogy (CDP)
is associated with retardation in various aspects of development /
ﬁma?ﬁﬁmmaﬁﬁmﬁrﬁr%l
1. Medium Intelligence / H&HH q@
2. No Intelligence / aﬁ‘s‘ §@ '_'|€T
3. Higher Intelligence / 3=d Ej@

4, Lower Intelligence / H& §@

Correct Answer :-

. Lower Intelligence / HG gfg

2) In child centred education, what the child has to learn should be | STA-Pied Rrem ﬁ, T

DI oIl TG A1fe Y, 98 TR SieT a1ieu:
1. Judged through activities Afafafdm o AT
2. Judged by the scores of their test results/3b TRI&T TROMH & il §

3. Judged according to the ability, interest, capacity and previous experience of the child /]

i, B, & SR s d 3yd & AR
4, Judged according to the previous experience of the child A= & fUsd 3{JHd & SR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child CEEdl

T, B, e SR s d $ryd & SR

3) Child centred education typically involves: / dT¢l S Rren & ema IR W v wnfire
E.'HT %:

1. on the spot assessments/dRd T i R HedTp
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2. no Assessments/®Is Hlih ol
3. more summative assessments/3{(Ud D HAThT

4. more formative assessments /3T TTATHD J;L(’Hid)"l

Correct Answer :-

« more formative assessments /(S TIATHD g

4) Which of the following are features of progressive education? / ﬁ'ﬁﬁf@—d ) aﬁq:\rﬁ

wTfaite fRign i fagivang 32

1. Instructions based solely on prescribed text books /Aw Haa i arey W R 31TRd
Al

2. Flexibility on the topics that the student would like to learn/3 Ta%TT TR TR (GRifeRTISTereY)
S BT YR 9% &

3. Emphasis on lifelong learning and social skills/Sfia= TRI=T 3IfERTH 3R WM HIA TR SR
CEIl

4, Emphasis on scoring good marks in examinations/TRI&TSAT T 3w 3id A TR IR Tl

Correct Answer :-

« Emphasis on lifelong learning and social skills/Sftae T ST 3R YIS HIA TR SR
CEIl

5) Performance intelligence is measured by: / et '§@ P %1 & gIRT /19T ATt %:
1. Verbal Ability/ AR &

2. Comprehension / JH

3. Numerical Ability / SHTHD &HdT

4. Picture Arrangement / e s

Correct Answer :-

+ Picture Arrangement / SRR

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "Th TIST B HHYUCT & U H sHF A0y A HET ST Ahd1 g 1" I8
S fpa Rramr Rrgia or smutia @:

1. Instrumental conditioning / sTgﬁET'f BHS I
2. Insight Classical conditioning/ e RrufaRa Ul ol (YIRS FATRIG A o=
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3. Trial and Error/ W-ﬁ% fafar

4, Classical Conditioning/ mﬂﬂw (WT@IW HSIRT)
Correct Answer :-

« Classical Conditioning/ ﬁwﬁr@am‘g@? (ERWTW HeIIM)

7) The word ‘consistency’ is associated with: / Xleq «HTHT” '5'\‘]'\& '\‘ﬁﬁﬁ%
1. Personality / oI

2. Attitude / TG

3. Intelligence / @:@

4, Motivation / U0

Correct Answer :-

« Personality / Sfadd

8) The prejudice against a person on the basis of sex of that person is WA i &
R & SR WR, 39 wafaa & fRaeme yalue (wem) glargl

1. Gender stereotype / e Qﬂ\lra;dcs(cil (\;l'SQ Eﬁﬁ?ﬂm
2. Gender bias / SIEIED HeHg (@I?:T EIERES))

3. Gender identity / Qi TETTH (SR 3MSa (S

4. Gender issue / QARIH Hel (@3? Hel)

Correct Answer :-

« Gender bias / aﬁl?f 'ﬁ?.‘[‘l-ﬂa (@'3? CIESES)

9) The smallest bone i.e. stapes in the human body is in the ear. /ATd IXR # GaH

AT " SE S iRl
1. Inner / 3G¥
2. Middle / S H

3. None of these / 37{3[ | ﬁé '_'I_E?f

4, External / dlexX

Correct Answer :-

« Middle /S H
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10) The last stage of psychosocial development is / AT faHT o7 Sifaw == % -
1. Identity v/s. Confusion / UgdI- d-H HH
2. Trust v/s. Mistrust / TG4 S Sfqyr

3. Generativity v/s. Stagnation / 3GIRdI &-[H d&RId
4, Integrity v/s. Despair / 3RGSdl §-H fFRTRM

Correct Answer :-

« Integrity v/s. Despair / 3RS dl §-H PRI

11) The study of same children over a period of time is known as study. / €

ﬁﬁ?wﬁ@%%ﬂwaﬁf%&rmﬁ g & =g H ST
EIGI]

1. Longitudinal / 3G e (@ N&[Se)
2. Cross-sectional / ufaerds (a’T\IJ_\‘:[ W)

3. Latitudinal / 31&T= (A tegsq)
4. Experimental / BRI

Correct Answer :-

+ Longitudinal / 3J¢¥ (A-Ticdsa)

12) Which of the following is a limitation of Eclectic counselling approach? [T d

D TgoRiea TRt R @ (GFfaes sreafent T ot AT g2

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach /

Y RIA DB B TS IR Bt fFafa a1 & fore srafiies wera wmRieransit
&T AIIHAT B & |

2. more flexible approach of counselling / TRTARI T 3feeh ﬁ%‘iﬂw BREIW
3. more cost effective & practical approach / 3AfIH gHTA 3R I CHIRES A

4. more objective & coordinated approach of counselling / R & 34w deg 3R gHfd
BREgL

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach /

= IR EDH 10T B T ARwar i Fafd e & fore srafiis e RRiardrsi
B SIS BT B

Page- 4



13) Which of the following is the best way the teacher can guide children with special needs

in school education? /mﬁﬁﬁq—mmamﬁ?m&lﬁmﬁwﬁ
faRiv smazgwarsit ara gl &1 URieR &Y a@d 82

1. Give higher challenging tasks / 3{{%d> %ﬁl’cﬁqﬁ &1 &
2. Give more tests / e TRI&OT &1

3. Providing support and tips / TgaNT 3R SEUE! G3l|

4, Provide more homework /({8 ‘jSCbIJ dald -l

Correct Answer :-

« Providing support and tips / H‘éq\l‘l 3R LEUE! Gyl

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of

needs? / FRafTRa & @ Hi9 I1 A @) sraxadarsii & ugrgHd § Auaw wH ot
STIIH T BT TP IEIEIV 872

1. Esteem needs / T 1 AR AT

2. Self-actualization needs / 3TH-ITY DI A H AT

3. Safety needs / GR&T b1 SAIDH Y
4. Love and belongingness needs / @R Ud 30U &1 TaIHATT

Correct Answer :-

. Safety needs / Y& P! SAIHAIY

15) Which among the following types of intelligence would be most used when trying to

navigate through traffic? /ﬁgﬁlﬁﬁﬁﬁmmaﬂgﬁm:ﬂ!ﬂﬂ, YTATATd & HISHH
¥ Afae B B DI HIa T8 fFHar smgm?

1. Naturalistic intelligence / quﬁad’)dlcz\l gi&
2. Spatial intelligence / Wg@

3. Interpersonal intelligence / Sfadafdas §@E
4, Emotional intelligence / Wg@

Correct Answer :-

« Spatial intelligence / EIIGE §@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / TP Fet Bl g Tl 3R & foTU TP ©R fiadn g1 ford gedtwvor st
BT YN fohaT ST XET 72

Page- 5



1. Variable ratio reinforcement schedule / TR STUId ﬁ_%é@@l W
2. Intermittent reinforcement schedule / S{cRTRI® {E@QIWUT W

3. Partial reinforcement schedule / 3{{RTeh '\ERE‘?'WUT w

4. Fixed ratio reinforcement schedule / 3T STUTd {'L‘EG‘\IC!NUI 31':_1,{j\tlnl

Correct Answer :-

« Fixed ratio reinforcement schedule / Ff3d S{UTd {j‘EGhIONUI W

17) One of the characteristic features of a Constructivist unit of study is that: / /I 4|

TS FATHGAIAIG 3PS DI U a2yl 95 g fob:

1. It starts with what children know as an effective departure point for the lessons. /SEeb! R[>3Td

T gidl ¢ b o= u1e & foie ues guret u fofg & &9 @ oiHd B

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / SIE) (é@

3R FOd SR (SRTETHT) BT IR Had (Y TR TIF DI BT 3N BT I g

3. It is propagated solely through teacher instruction. /48 qpfa: e & Mdw & ATeaH 9§
T fora STar B

4, Asking questions is discouraged in the learning process. / Y Y&l SHfATH @t ufchar d
FRA G

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. ERSCl R[231d

Y il ¢ o 5= u1e & forw ues guret Ui fofg & &9 om oiFd B

18) Reading skills can be best developed by: / U P B EX) uferar gRT 9ad 33t
e fawRa far o awar g:

1. Writing answers / 3T [erg1
2. Playing word games /doing quizzes / g8 T WaHT / foel &

3. Focusing on the use of words in the text / U3 H Usal & IUTNT TR A PHigd BT

4. Doing vocabulary exercises / eqTadl! S Al

Correct Answer :-

« Focusing on the use of words in the text / Uld T eal & STIN IR A higd BT

19) Irrespective of the kind of impairment, all children are capable of: / o3t voR oI

quar ¥ grave, 9 7= g A gam g 8
1. Movement / T=|T‘Ief
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2. Hearing / ﬂ:ﬁ
3. Learning / ESPGE]

4. Seeing / YR

Correct Answer :-

« Learning / e

20) What are inborn patterns of behavior that are biologically determined also called? /

AER & ST Ue wil sha-fage & gaR FuiRd 81d €, 3= g8 M serare:
1. 1d / UgEH

2. Drives / S13d

3. Instincts / Fg ol I

4, Intelligence / Q@Iﬁ'ﬂ

Correct Answer :-

« Instincts / Fg©l AT

21) What are the symptoms of Post- traumatic stress disorder in children? [a=dl H ugy-

3T 9419 fAPR (URe erifes R fEwsiisr) & e w82

1. Avoiding places or people associated with the event./ ¥l g @ Y1 91 ART 9 ST

2. Having to think about or say something over and over. / SIR-6[[X P &5 HE AT 3D aR |

T
3. Not have an interest in other people at all. / §¥R-|' | ﬁ@'_d ESEENIE]

4, Becoming annoyed with others./ g3 3 RIS T

Correct Answer :-

« Avoiding places or people associated with the event./ ¥l q \_{],@; YT A1 A S

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / o TR 1 Rigid 9% Uegd Fean 8 & i S9 9=l ©®
Rk Fvar 8 it S & w1eaw | 93N 82

1. A deterministic theory / U (Hafdare Rigid

o

RIgid

2. A social theory / Uch eI

oS ON

3. A nature theory / Uch Ulh[dh RIGid
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4. A nurture theory / T UTeH-190T gl

Correct Answer :-

« A nature theory / WW Rigid

23) What type of thinking is associated with creativity? / foa goR o1 fiaa '\ETIFITZﬂﬁT'IT °

Haferd giar g2
1. Convergent thinking / 3THIRY A

2. Divergent thinking / 3{cfT] i)

3. Insightful thinking /3fTE® WId (FTATZCHd [ATHT)
4, Transductive thinking / IRATS H (giHSI?COI ﬁlﬁv_ﬂ)

Correct Answer :-

« Divergent thinking / 3{¢I{] BIE]

24) Who introduced the theory of Universal Grammar in language development?/ HTHT

e # gfadde R & Ricgia o f5u v foar
1. Piaget / OISl

2. Vygotsky / CIEUIRE:]

3. Skinner / RHR

4. Chomsky / D!

Correct Answer :-

+ Chomsky / DI

25) Intelligence is a product of both and environment./ g@'ﬂ?ﬂ, Gﬁ?

TR Il 1 U IdIE gl
1. Culture/m

2. Community / SHaT
3. Heredity/ 3fTJdfRIehdl

4. Society / JHIS

Correct Answer :-

« Heredity/ 3ITIdRrebdl
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26) The Minnesota Paper Form Board test is a test which measures one’s

./ FIIeT UR Td 91S wiler, Te aigu g s fsfi &t SI Amgan gl
1. Verbal Reasoning/ A% T

2. Aptitude/ I

3. Personality/ Sfddd

4. English Skills / 3OS DI

Correct Answer :-

. Aptitude/ IRl

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / WW@‘?@I’I@'%W ﬁrqymmmﬁ &
fere fafirs womeht &Y 317d 1 & o weTomaT 81 399 g wu A FufifRa A o=
AT ITIRRI XA §RIT?

1. Evaluation / Fcdich

2. Convergent thinking / SYORY fidT
3. Divergent thinking / SOR] fid=

4, Learning/&[m?m

Correct Answer :-

« Divergent thinking / 3R] fdq

28) Classical conditioning was developed by: | TS oI (ﬁRTIﬁI'@?I
WG a1 ety rgae) e 7 @ fad gr1 faw e fear man e:

1. Bandura /ETU@
2. Pavlov / UTdelld

3. Kohler / W
4, Piaget/ﬁltﬂ@f

Correct Answer :-

« Pavlov/ GG

29) Selecting specific stimuli through sensation is a characteristic of: / TdeT & HTeHH |
fafRy IEu= &1 79 FA &1 sfraeror 8

1. Attention / 3{d¥Tq
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2. Critical thinking / TTg- IEGE
3. Concept / S{AYRUI

4, Perception /Eﬁﬂ

Correct Answer :-

« Perception /&W

30) Animism is the belief that everything that exists has some kind of consciousness. Which of
the following does not describe the idea of Animism in children at the pre-operational stage of

development? / A4S U8 fayrT 3 fh <t $o ot Hiv[g & SuH fonelt upR &t ==
%ﬁyﬁ?ﬁﬁwﬁm%qﬁ-wﬁamwwaﬁﬁm@m%ﬁwmmﬁ
Al 82

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./

gﬂwﬁrwﬁ@rmﬁ@ 30 IR PI dIC Ugardl 8, TR ¥ IRRl T Bl gt
|

2. A child dresses up as ‘fireman’ for a fancy-dress competition / Tt gﬂ gferaiirar & fow U
T BIEREA & %0 § R g1 g

3. A high mountain will be thought of as ‘old’/ Uch & gdd Bl ORI HIAT ST

4, A car which won’t start will be described as being ‘tired’ or ‘ill’/ TYh DR o L= '_‘I_bpf fop
ST I T G3HT T SHR T Se |

Correct Answer :-

+ A child dresses up as ‘fireman’ for a fancy-dress competition / Tl éﬁﬂ iR & forg T
2\ e D ¥
F BRREE & FU H R BT 5|

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:

According to your advertise--, your guides are knowledge-- and experienced, but | found them to be

otherwise.
1, -ing ... -d
2. —ly ... —ing

3. --ment ...--ly

4. --ment ... --able

Correct Answer :-

e --ment ... --able
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2) Fill in the blank with the correct option in the given sentence:

A person who is an outgoing person is an extrovert and the opposite kind of person is an -- vert.
1. intro--

2. intra--

3. semi--

4, homo--

Correct Answer :-
e intro--

3) Choose an appropriate modal for the given sentence:

Why did you stay at a hotel in Mumbai? You ________ have stayed with your friend, Manish.
1. must

2. would

3. could

4, ought

Correct Answer :-

e could

4) Choose the most suitable pronoun for the given sentence:

The teacher asked, “Who has the box?” Jessica said, “I have 7.
1. she

2. he

3. us

4. it

Correct Answer :-

5) Choose the appropriate tense to fill in the blank in the given sentence:
Rudra a party this Saturday.
1. has been giving

2. was giving
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3. gave

4. is giving

Correct Answer :-

« is giving

6) Choose the appropriate conjunction for the given sentence.
I have been working all night, I feel tired.

1. Since

2. Whereas

3. Why

4. So that

Correct Answer :-
« Since

7) Choose the appropriate antonym for the highlighted word in the given sentence.
Different methods are used to assess a gifted child.

1. inept

2. brilliant

3. accomplished

4, lazy

8) Choose the appropriate determiners to fill in the blanks for the given sentence:
There are ____ mistakes in your composition. Please correct ____ of them and resubmit it.
1. any, some

2. much, any

3. some, all

4, few, any

Correct Answer :-

e some, all
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9) Choose the appropriate option that rewrites the given sentence in its passive voice.
People regard my parents as an ideal couple.

1. My parents are regarded as an ideal couple

2. My parents were regarded by the people as an ideal couple.

3. My parents is regarded by people as an ideal couple.

4, My parents are being regarded as an ideal couple by people.

Correct Answer :-

e My parents are regarded as an ideal couple

10) Choose the appropriate synonym for the highlighted word in the given sentence.
Professional athletes demonstrate a high level of skills.

1. prove

2. adapt

3. act

4, display

Correct Answer :-
« display
11) Choose the appropriate prepositions for the given sentence:

Cosmic rays can not only damage the front end a rapidly moving spaceship but also go
the ship and astronauts themselves.

1. on ..by
2. at ... into
3. for ... with

4, of ... through

Correct Answer :-

e of...through

12) Choose the option that best explains the highlighted expression:
*‘Make it snappy, will you? I don‘t have all day’.

1. talk fast

2. snap a bite
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3. break into a run

4, end the matter quickly

Correct Answer :-

« end the matter quickly

13) Choose appropriate article for the given sentence:
Copper is ___ useful metal used for various purposes for ages.
1. no article

2. the

3. an

4, a

Correct Answer :-

14) Choose appropriate articles for the given sentence:

When ___ forest is cut down, there is nothing left to create or protect ___ soil.
1. the..a

2. the ... no article required

3.a..the

4. no article required ... the

Correct Answer :-

15) Which of the following options best combines the given sentences?
I was five years. I live with my uncle.

1. Since I was five, I have lived with my uncle.

2. I was five when my uncle lived with me.

3. Ever since I was five, I have been living with my uncle.

4. T am living with my uncle when I was five years.

Correct Answer :-

« Ever since I was five, I have been living with my uncle.
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16) What changes, if any, should be made to the given sentence to make it active voice?
The winning home run was hit by the worst player on the team.

1. The winning home run had been hit by the worst player on the team.

2. The winning home run was hit by the team’s worst player.

3. The winning home run was hit by the worst player on the team.

4. The worst player on the team hit the winning home run.

Correct Answer :-
» The worst player on the team hit the winning home run.
17) Choose the right tag:

The students promised to repay the money within three months, ?

1. didn’t they
2. do they
3. do they not

4, did they not

Correct Answer :-
e didn’t they

18) Choose the right tag:

)

Don't get your feet wet,
1. do you

2. will you

3. aren't you

4, won't you

Correct Answer :-

e will you

19) Choose the option that substitutes the given phrase appropriately
A very concentrated ray of light

1. Alightening

2. A laser
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3. A beam
4, A flame

Correct Answer :-

e Alaser

20) Choose the appropriate tenses to fill in the blanks in the given sentence:

How long you French?

1. have, been learning
2. was, learned
3. had, learning

4, are, have

Correct Answer :-

» have, been learning

21) Choose the appropriate indirect speech sentence that corresponds to the given direct speech:
Mother said to me, ‘Be quiet! The baby is sleeping.’

1. Mother told me to keep quiet as the baby was sleeping.

2. Mother told me to keeping quiet as the baby is sleeping.

3. Mother told me keep quiet as the baby sleeps.

4. Mother said to me to keep quiet as the baby slept.

Correct Answer :-
» Mother told me to keep quiet as the baby was sleeping.

22) Read the sentence carefully and choose the option that has an error in it:

All his scheme to murder the king ended in smoke.
1. to murder the king

2. ended in smoke.

3. All his scheme

4. No error

Correct Answer :-
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¢ All his scheme

23) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond
doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

According to the passage, who accused the minister of wrong doing?
1. The contractors

2. The public

3. The courts

4. The opposition parties

Correct Answer :-

¢ The contractors

24) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond

doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.
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I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

What is the main theme of the passage?
1. Money making trends by forest officials
2. Money making tactics by politicians

3. Political rivalry among ministers

4, A minister's proven integrity

Correct Answer :-
* A minister's proven integrity
25) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond
doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

The main plea of the writer is that:

1. Ministers should be more careful in their dealings.

2. A minister is entitled to great assets.

3. People in high offices should be judged by higher standards.

4. The court judgment should be adequate enough to clear the minister's name and integrity.

Correct Answer :-

» People in high offices should be judged by higher standards.

26) Read the passage carefully and answer the question given below:
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Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.

Can you infer the meaning of the slang word “dosh” in the passage?
1. Private transport

2. Warm clothing

3. Money

4, Physical energy

Correct Answer :-

¢ Money

27) Read the passage carefully and answer the question given below:
Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.
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What is the main theme of the passage?

1. Rediscovering the lost art of conversation
2. Health foods in Briton

3. The economic downturn in Briton

4, Family life in the UK

Correct Answer :-

» Family life in the UK

28) Read the passage carefully and answer the question given below:

Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.

According to the author, which one of the following is not one of the blessings of the economic gloom?
1. More of home cooked food

2. More love life

3. More family togetherness

4. Parents spending more time with children

Correct Answer :-

e More love life

29) Read the passage carefully and answer the question given below:
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Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond
doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

What is the tone of the passage?
1. Defensive

2. Recriminatory

3. Critical

4, Accusatory

Correct Answer :-

e Defensive

30) Read the passage carefully and answer the question given below:

Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.
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How will you classify the writing?
1, Pedantic

2. Scholarly

3. Explanatory

4, Tongue-in-cheek

Correct Answer :-

» Tongue-in-cheek

Topic:- General Hindi(L2GH)

1) &l omelt g STUGT BT WG U1 G F PRI & WETPHR A Sl TP TSR PT SMRTY YT WH-FREB
TP R gar 8, S B U FEd &1 HIY & S PRI W YU ST & AT THpa H3a1 & iR ¥ 3Tt
UET ¥ 916X B11 & [T 1 1Y g b HRU b Tuary P {31 781 giT | AfS g BT HROT A B 3R U5
FHET S {6 IHT SH-gPR g UgardT ¢, aH By g W WA & forg sror &1 fFfde gir o=t
=TY; AT UR AT T IR i g A gt ug | afg B st freft o & o) et gre w1Y-
Uid g S ot IR 1Y 7 ST 4 BIIT1 R S § Al DI g1 S19 &g 6 " SHD-3HP TR
BIY-IR s 3 ol a8 qRd I} TEa®: BN P "I € B1Y-UR dis-ara? 31

YT FT faug &) Tt § A S1aT § - 3Ted U § SR e U W sRyned fawy 9% @ e el was
BRI fFaRUr YT §) a1 3RIYT TU US| A1 fava 98 8 o) waed gRT gR 5ar a1 vean 51 gehar g1l &t
TS U UETS) 741 & PR 33 a1 3ig § aTaid Sed 99 o 72 U1 39 A W 3R 31 g8TS g Ut
IfE 3 I ISP WA, BT T1 U8 W I 3N1fe BT Uaed ®Y ) 99 Ihd ¢ | fIva & Jreg a1 31l g9 ot
YR GRTRITT BT FIRAa F SR @ S 81 & IR 950 $© 999 B YPpia W W sraeifad et g | | &
PRUT BT JH 811 TR IT@! Sifrardar &1 f=ea st faazrar ar sigrmar & srgyfa & wror gar g1 afe ag
IFYfT FIETEET SR STURRN B g7 HA F AW AT AT & AU & BRI I 8, O TFsd TifHa g
7T & 3R 3P B1Y-UTd 71 fee 9 | IR e few o1 a1 greelt el ugad o siedt evar a1 3k &var it
2 @ U B 31U T B I A @ ST 3 | YT ST TGUTT 81 ST ¢ 99 HraRar a1 Wiwar wgerar @
3R U S AT et 8, faRive: geul 7| & &Y ftear @t s9at ason & au € IR & wHReH B
5 € 81 goul 31 ofivar At 3t foier gt § 1 39T oI v @ o 9gd R S & IEU1 A 7 S 61 3T
A Yot 8 1 Wiear & WU raudl § FA% e DI Ta=aHdT 3R U1 TR BT SAfI=ary W 1 g BT
AT B A URH BT P a6t giar 8 fr urmmaren i dist 48 ag wwar auft eraeit =ifda & gR1
I dieT & Sru=it Xe o fazary =1gY waan| g |t 9ga Wl 9ra @1 e g5 1 Sshiad & 3R 3F® IRl |
ot sl s St 81 srde & v & wgd A saruRt Hef-it ot famtie sraramar # 519 18t sTerd, W
B F YT A 9gd A tfed Ft-s W Irerd A g R g

SR TR B TR -1 TS T U HT IR T34
U: 4O BT fawg fhaa =i § 9= emar g2
1.dR

2.3l

3. U

4, 9

Correct Answer :-
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2) Tt orelt g5 SITUST Ft UTAHT AT G & BRI & ATHTHR A Sl Th YHR BT ATATYYT AT WY-FRD
HAIIBR BIAT 3, SH Bt HT H8d 3| PIY §& P HRUI W THTT ST & AT 3THe 3T 3 SR Wa I
Ugd 9 dTeY 51 & Q1 H1Y g & BRI &b WReya1Y & 31 78 gar | afe g 1 SR AqT g SR ag
T ST 6 I H-ggR g8 UgarT ¢, It iy g R 4T & g SR 1 Ffde g st
TEY; ST WR WIH BT ST & g a g1f ugantt) afe #1s saifondt et e & &3 5 war gl 19
U1q g€ SIRAT At S HIY T ITC; UG I R S F A B GIRT AR Fg 1 " SP-ATP TN
BIY-IR d15 3T ) 98 id AR} Tead: Sl fo i & 8TU-UR digaara? 3@ |

v T fawg g Ul # Jree 3T § - 3RIed TU H 3R ren wu H| eRyred fawy ag @ e fhd was
RT AR YT 81 a1 SrRiYd U US| ued fawy 9 8 S waeT gRT g fomat a1 Yakat o1 wehdn g1l &t
IS T UETS] Al & fhTI¥ 9 a1 3 @ araild Bd = o 3@ A1 g A I IR P ggTS TS US|
e § I ISP WA, BT T1 U8 W T 3N1fe BT Uaed B ) 99 IPhd & | fAvg & J1eq a1 31 g9 ot
RO TR 31 FIRIva & SR @ 81 € 8 R 95 $° 9™ & upfa W off sraafya et 81 R &
PRI ST T 811 W ISP Afrardar &1 e sra- faasrar ar sigen @1 gyfd & sRurgar g1 afe ag
IFYfT FiETEEl SR STURRN B R A & AW T AT & UG & BRI G §, & T Tifda gt
ST 8 3R ISP GIY-UTd T fowt Fbd | TR B et BT a7 Aot SiTewl ugat df Segt ST 781 S} S3ar Wt
2 YT BT 31U T P I T @ W11 8 | YT NG U &1 ST ¢ 99 SR a1 Wiear wgerar @
3R U S AT e 8, fasiva: geul #| f&a &Y oftear o SFet asen & auE € IRD! & TR B
g 78 81 T Y e A gt Figr St 81 T i v ar @ 6 959 R 9 @ qol A 7 899 1 3T
A TR g1 ear & SO Sraudl B R T @1 AT iR U fe o7 fa=ary gu 81 Jg &7
HIHAT 631 | HRH BT 3y g€t ghar @ i yrmaren Imiive e =€) T webdr aut et wifea & gri
I dieT & St Tei o7 fazary =13Y waar| ag |t 9ga W ara @1 e g5 1 e & 3R 3F® IRl A
ot oftwar fers <t 81 srdeif™ & v A 9ga @ ot waft-w ot fareht fasiy soawma ® g1y 1€t s1erd, W
T & 4T § 959 9 Ufed F-wft weard | de wa g

ITYE TR B Ugh? -1 U 7T U BT SR I134:

T SRIRAT Bt A9 =0 § fHaa g1 Uit 1Y |1 1t 32
1. Rt &

2. O3 |

.geu

4, Ufgmr o

Correct Answer :-

. QU

3) ot orrelt g8 SITueT @1 TG T §W & HRUI & AIHTHR A S TH YHR BT SMATYUT AT WH-F RS
TRER ghar 8, S Bt Y9 Fed &1 HIY g F PRUI R YU 1A & T pa H3aT & i Wg It
59 A 918Y 811 & U1 1Y g8 & HRU & WReuary & {31 718 grar| afe g 1 $Rr A9 81 3R 98
ST WG {5 I SI-ggb g Ugart 8, a¥l ®iy g W 44 & g srur &1 fAfde g st
Tel; SAT HR HIGH §I1 Ao fob g a1 g1 ug ot | afe S saifad! frel Tar & w8 i &a g §1Y-
UTq ge ST Gt SW 1Y 7 ST, U B IR I A TS B g7 MR R % "5l S@-3P el
FTY-IR S &I ol 98 T¥T AR} TGP P S "I g BTY-UR drearer? @ ™

YO FT fAug & T & YTA- 3I1a1 8 - 3R 0 § 3R I1ed 7y H| 3RyreA fawy a8 g e 6t vas
ERT fFaRUr Sryd 8 a1 SRIYT Ul US| TTed fawa 98 & o) waeT §RT g) f%ar a1 Yakar 51 gehan g1 &t
A TS UBTS! A4l & fhR 33 AT 31 A dramild d Td o @ U1 59 § 9o IR B 3818 AT US|
e S IePY UNTH, U I1 U8 R T 3NfS BT YU B9 ) 99 Tod ¢ | fava & e a1 3R g9 31
Yo IRTRUTY BT FaRva & SR &t 81l 81 ¢ IR 95d $© 999 & Upfd W i srqeifad Wt 3| R &
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BRI BT JE B4 W ISP Tarian &1 g Sro=it faa=rar ar sigmdar &1 sryfd & SRl glar 8| afe a8
IFYfa FiEATgal iR STufr & ¥ Fv1 & SFWITH T W18 & AU & RO 8, @ Tgsd TWifda g
1T B 3R 3P B1Y-UTT T| 3@ 9Phd | W Fe fea o1 a1 agdl onert uga af Siedt Svar A1 3k gvar ot
2 @ HUA B 3T T b ST T 7 o1l @ | Y ST WA 81 ST @ a9 SraRar a1 Wedr seardr 8
3R U S AT oI 8, fasive: goul 7| f&a & fiear ot S9et dvon & "wE € RS S 7R B
g Tt ¥ 1 goul 1 ofiear 31 gt T gt B 1 ¥ o v ar @ 6 9gd M S W gl A 7 S &1 3P0
A T B 1 NeaT & WA audl & FA%T e DI SMaRAH T 3R U+ TR BT SAfI=ary wem g1 g &7
HIHET 631 | UM BT 3y 7€t ghar @ i wrmaren srdiive et =€) T wedr aut sroeit wifed & gri
I feT & Srueit Tei o7 fazary 1Y waan| ag |t 9ga W Ira @1 e g5 | shad & 3R 3A® SRl A
ft Wfiwar fers et 21 sreferf & v & aga I i) Hf-w ot fareht faty sraama ® g1y 781 ST, wRa
TN & YT A 959 9 UfSd Fft-wft mmard S g wa €

JUY T TR B UG -1 U T U HT IR TaAT34:
U fawy & e a1 3 Ted 819 &t YT PP fagivdr & FRU gl 82
1. R

2. UPpid
3. Jarufd

4, vygfa

Correct Answer :-

4) Tt 3ITelt g5 SMUGT BT U IT G P PRUT & AIGTPR 3 Wil TP TSR DT ATAYT HYTT TH-PRD
TIPSR 1T 3, S T 4T B 3| HIY g S SRV W THG STH & T aMgpa weam § SR wa sqa!
ST 9 916X 811 & 1T 1 1Y g &S SR $ TReuay & =1 81 grar| afe g &1 $RT Aa- g1 37T I8
ST S % S SI-g5bR g Ugardl 8, a1 #Iy g W 4T & g srur &1 ffdee g st
<TEY; SO R WG BT 1R T b g an w1 ug Al af #i wifod) freft AR @ w8 5 e gl w-
Uiq ge A dt S/ HIY T ST, UG 1 R I | af HIS gIRT MR g 1% 'Fd SMF-3TP TR
BIY-TR s 3 o a8 qRd IR} Toa®: Bl % i € g1Y-UR digaard? 31 g

Y &1 fawa gF Ful § JrE 3T § - oRTed TU H iR urem wu §| eryred faww a7 @ ot fel wae
ERT FaRT sRiUd g a7 YT TS US| W1ed fIud 98 € S waeT gRT g) faar ar Year o1 gt gt at
I T URTS] A1 & fh-IY 9 41 3 @ araiid B = o 3¢ A1 g4 A o 2R Pt ggrs TS US|
Tfg 3 EH1 Ied U, f5T= a1 U W aeq 3fe &1 waet &3 df 9 9 d ¢ | fawa & arer ar e g1 &Y
RO IR F} FIRAT F IR @ 8 €1 8 R 950 T© 999 &1 wpfa W W srqafad et 81 | &
PRI BT J 11 R ITB! Sifrardar &1 A= ot faa=mar an sigrar ot sryfa & R gar g1 afe ag
IFYfT FIEATEE! 3R ATIRRN B g7 A F AW T AR F AU & BRI G 8, @ T Wiida gt
STaT § SR SUP F1Y-UTa e 50 9w | R s e &1 a1 Areil snewt ugd ot STt gvar a1 ofik swar oft
2 O HUA D U T b ST H & o141 @ | Y ST YT 81 ST @ a9 S1aRarl a1 Wedr sgardr @
3R U IV 9T oirar €, faRiva: goul A1 feral Y fiwar af 3@ dson & waE €1 Iyl & aeReE @t
g Tt ¥ 1 gul 1 ofiear 31 ol fFier St 1 ¥ o v ar § 6 9gd W S @ gl A 7 S &1 3P0
A vET & 1 ear & WA audl § FA%T e DI ISl 3R U+ TR BT A=Ay wem g1 g &7
TIAT B F URF B7 FUTT T8t gian @ 7% Urearer [iRe Wet =€) T awdr asht st =ifea & grr
I et & St Teim o7 fazary 7Y waan| ag |t 9ga Wl e @1 e g5 1 shiad ¥ 3R sA® IRl A
oY ofiar fears <t 81 erefer™ & v & 9ga @ sur) -l fpeht oy srawma ® g1y =8t s1erd, R
T & 4§ 959 9 Ufsa Fl-wft rand @ Je mRa €

JTE T P Ughs -1 U T UY T 3T Ia159:
TR: 959 IR ufed e ya @ e O off R 82
1L.IMEA &
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2. AN BH &
3, fopel O =7t
4, WKEH &

Correct Answer :-

.« WMAEH &

5) o} STl g8 SITUQT BT UIGHT T §W & FRUT & ATHTHR A S TH YHR BT SMATYYT 3TN WH-F RS
TAIfABR g7 8, St B U Bgd 31 HIY & & PR W YU ST & T STpd war g 3Ry 3Tt
59 A 918 811 & Y1 1Y g & FRU & WReuary & o1 78 grar| afe ga w1 SR A9 ghm iR 9w
AT SQ % IH SIH-g0a= 3@ Ugarn ¢, Tt iy 81Tl W WA F g srr 7 Fifde g st
TEY; ST HR HIH §i1 AfeT o gra an w1 ug Rt afe wis saifadt fredt ifaw & &2 % e g 719-
Ufq ge SR dt S/ HIY 7 TE; g §I1 IR 3! F Uf B gIRT AR Fg % "F e SD-AgP TR
FIU-IR IS 1 At 98 Ta R Taaey Fo i § gTu-O% AgHaTe? 3@

WG &7 faug & =l & Fr= 31T 3 - 31 U H 3R 919 wu H| 3wy fawy ag @ o fodt waet
ERT AR rva §Y a1 SRIYT TUel US| Ired fawa 98 ® o) waed g1 &) fan ar Yekar 5 aan g1 &t
IS T RIS} 8 & A1 83 97 3ig @ Sradid B g oT 38 41 39 & o 2R 31 g8Ts AT v
g § 1 ISP UITH, BT T1 U8 W e 3M1fe BT Uaed &3 ol 99 Ihd & | [Iva & A1 a1 31 84 Bt
YRoT URFRRATT $T faiuar & SR a1 g1l 81 8 W 950 $© A% 3t UPfd W Wi srqcifad gl o | FA P
PRUT BT JH 811 R ITT Sfardar o1 e o=t faa=rar ar siermar & sqyfa & @R gar g1 afe a8
IFYfT FIETEE! 3R STURRN ®1 R A & ST T A8 & UG & HRUN il 8, O T Wida
1T B 3R 3P §1Y-UTd 81 fdd Idbd | W Fe f3a &1 a1 agd et uga o) et sar 71 ok gvar oft
2 @ HUA B 30N TG F ST W & o4l 2 1 Y S WG 81 91T @ 99 SraRar a1 Wedr seara @
3R YT ST AT=T ST §, Fagiwe: gout # | &t o Wfiwdr a9 ST dwon & 9 € IS B ARe B
a5 8 21 7ol Bt Wiwar B @ figr St 81 3 oI usar @ 6 agd WA oA | gIu A 9 599 BT ST
A a8 1 Near & WIS audl & FART e DI IR HdT 3R U TR BT SAfa=ary wem g1 g &7
AT R A YA BT ST 7€) S @ b UrAarar IR dieT =7t e aoar avft o= wifea & gri
39 HisT T 3=t T 1 faxare 7Y Y| 98 o 959 R0 wra @F Wiear g3 1 shad & ok eme amuRl #
i ofiear fewrs St 81 srferf & va & sga § st sefl-wft fondft fasty sama # g1 =16 sterd, e
TR & YT A 959 9 ufed st-w i e | g wma §

ST TR B Ugehs A2 IR W UY T SR Id154:
U 954 $O g 91 i@ fie w oft sracifeaa e 81
1. Ui

2. TATEaRUT
3, TR

4, yafd

Correct Answer :-

6) ol STl §5 SIS BT WIGHT AT g & BRI & AIHTDHR A ol TP YR BT SMATYU YT KIH-FRD
HAISR FHAT 3, I8 BT W FFd ¢ | HIY g S DRI T YHTE ST & A MHd PIAT & SR W 3D
TS | e §H & AT P g S PR & TRgatY F {31 TE gren| 7 §T B SR A g SR 78

ST WG & S S-ggrbr g uganat 8, a¥l Hiy g W 49 & g sror 1 fAfde g st
&Y, ST WR HIGH BT =T b g a1 g1 ugahl | afe ®1s suifad) fell 1o @ &2 % ot grer g1y-
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UId g STaA" @t S 1Y 7 ST, 4G BT W I A Ul Pig gIRT TR g (& el qD-3HP TR
BTY-IR aits 31 ot 98 g¥d Y Iqaehe Bl % "I § BTY-UR dig-are? o |

UG &1 fawg g Ul § qTE 3T B - 3RIed FU H SR rew U H | 3Rared fawy ag @ et el was
R AR v §Y a1 SRIYT Tuel U | | fawa 98 ® o) vaet g1 @) fhan ar vear 5 aan g1 &t
I T URTS) A&l & fr1Y 83 41 3frie @ arasiid B = o1 38 A1 g9 A o 2R B ggrs TS uSh
Tfe 3 I SoP YA, BT T1 U R T 3NfS &1 U B3 o) 99 9d & | Fava & aren a1 sraren 811 &1
YTRUT IR ) faRivan & SR oY g1l €t @ IR 9gd $© 9 &t upia W sraafad et 3| | &
PR BT I 811 W ITP! AfFardar &1 fFzaa ot faa=rar ar sigrer @) gyfa & sRurglar 31 afle ag
YT HfS-Zal SR SMIRRN B g3 FIA & W IT ATeH P UG & PRI Il 7, 91 AT TiHa gt
W11 & 3R IUP B1Y-UTT | fed Uhd | W Fs f3a o1 a1 we et uga o) Sedt sar At ok s=ar ot
2 HHA B 3TN TG b ST A T o1l @ | W ST WA 81 ST @ 99 Srarar a1 Wedr sgar @
3R U IV AT wiraT €, faRiva: goul #| Rl Y iwar @) 37 dven & waE €Y IRl F AR ot
g T ¥ 1 gl T ot 31 o i St 1 ¥ o v @ 6 9gd R S @ gl A 7 S &1 3@0
o YRaT B 1 WedT & GaleTe Sragal A S He B SAraxaeddr 3R 0=t 2T o1 SfAzary v 81 g o1
AT H A HREA &1 S 76t gian @ fb wrmAaren wie dier 781 g doar at sraei =ifdd & gri
I et & Sl T 1 fa=are =18 Y| 9% o 959 RN Ora of Wear §51 shad & iR eMe IRl |
ot i s &t 81 srfeT™ & v & 9ga @ saruRy St et foie e # g1y 16t sTer, W
T F 4T A 9gd A tfsd F-w ol I § dg WA €

ST TN Y UShR 19 TR 7T U BT 37X Id133:

T Near & Ao Sragal § T v 82

1. G & BRU T IH R FaRU &7 7aE

2, AIEIS 3R T T A

3. A TG B STAIDH AT 3R T K BT AT
4, U169 SR IR R F1 3

Correct Answer :-

. T TE B TGP 3R 30! Wi T Sfa=arg

7) oY ol g3 SMTUTT 1 WIS U1 §W & FRUI & WITHR A T TH YHR BT SMATYOT 3Tl WH-FRD
TSR 8T 8, St B Uy Hed &1 HIY & & PR W YU ST & T THpa Har & iR v 3Tt
Ugd A 916X BIF & U1 1Y §@ & SRUT & Wav=uary & a1 181 giar| afe g &1 HRUT Aa- g1 SR 9§
T S P IW TH-JHHR g@ T &, It e g W Ha & g SR &1 ffdwe g st
Te\; ST HR HIGH B =feT b g am g1 ugarth afe His saifadt freht faw @ 92 i &a TR 819-
UTq ge A at S HIe T ST, U I TR I | Al B gIRT MR Bg 1% ' SF-3HF TR
FIY-IR s S <l 98 g¥d AN IEaDHR BT b "B § BTY-UR dls-ara? 3 qmi"

WG &7 fAuy & T & A 31T § - 31 U § 3R 919 ¥ §| 3 1ey favy ag @ e fedt vaet
BRT fFraRT ey g1 a1 SrRiva aue US| e fawy 9 § ot wae g1 g fovan a1 vakan o1 gt gl &t
IS U UErS] 7l & fPR 38 a1 3Fie A araeid $d =a &1 @ A1 3o # 9o 2R F} ggrs 1S uet|
e I S ISP U, f5T I1 U R I IS BT WU $9 ) 99 Thd € | FIva & 1y a1 SR g9 91
RN URFRATT 1 faivar & SR o1 g1l 81 8 IR 950 $° A% St Upid W Wi sradiiad ¥gdl ¢ | T F
PRI BT I 811 W ITP! Afardar &1 fFzaa sra-t faa=rar ar s @) gyfa & sRurgiar g1 afie ag
AITYfT FIEEET 3R TR F g7 A F AW AT ARG & UG & HROT Il 7, 9 T WfUd gl
ST 3 SR A IY-UTd 8] f5et Wbl | IR s et 71 a1 ATewt SiraH! uger Y Siedt S 181 iR svar oft
T @ FUA B 3UA TG P IENT A T STl 8 | Y g TGHTII 1 ST & a9 BraRar a1 Hiedr sgarar g
3R U 3 | ot 8, faRiva: geul 7| & &Y oftear ot st asen & w8 IR & wHkeH B
g €1 81 7ol 31 ofivar ot gt foier St 31 T 9 v @ b 9gd M S @ gel A 7 S 61 S
A TRaT g | Wear & Haiee Sraual B aR1 A @1 Al $i¥ Ul fad &1 ifa=ary gu™ 81 ] &7
AT B3 A YIH B7 P a8l giar @ 7 urearer wiRe der 98 a8 aodar asht et =ifea & grr

Page- 26



W i foars i 81 erde= & wa & agd 9 s} wit-w it fobedt faxia saawma 4 g1y =16l sTerd, e
T F YT A vgd 9 dfed Ft-s W wrerd @ g e g

S T B Ugehs -1 U T U T SR Ia133:
U 399 9§ {51 wd BT day ya q 82

1, ST gt
2. Had a1

3. HAA ™Y
4. Had T

Correct Answer :-

. Suad ot

8) oY 3Tl g3 SITUeT B UIGHTT U1 g & FRUT & WTATHR A T TH YHR BT SMATYYf 3Udl WH-FRS
TIR®R giaT 8, Sl B Y9 $ed &1 HIY §F $ PRI IR YU ST & T MPpa HaT & 3R UG Iqbt
Ugd A 916% BF & U1 1Y g@ & SRUT & waveuary & a1 181 giar| afe g &1 SRl 30+ g1 3R 98
T ST 3 I S-JFHR g@ g ¢, It e SN R 49 & Rig SR &1 fAfdwe g st
TEY; ST HR HIGH BT A1TeT % goa a1 g1 ugaht| afg s suifondt foredt faw & &2 1 et guen a13-
UTd ge AR dt S/ B 7 ST, UG I R I | af BIg gIRT AR B2 % 'Fd H-3gP TR
FIY-IR A1 S 1 98 G AR IGa®R Hel b "B § g1Y-IR disHard? & i

WG &7 faug & Tl & A 31T 3 - 3T 0 § 3R 919 w0 H| 31wy favy a3 @ e fodt wae
RT FraRur SRy §) a1 SRiva aue US| e fawy 9 § ot waeT g1 g foar a1 vakat o awdn gl &t
AT U UTS! A1 P fFa1 93 7 e | Fradid $d 9ol off 32 A1 54 | I 2R B ggre 18 uh|
e J S ISP U, U I1 U R Fe 31 BT YU B3 ol 99 Hobd ¢ | faud & Iq1ed a1 SR g4 91
yTRuTT URIRYTT $T fiwar & SraR ot §idt 81 8 IR 950 O 795 31 UPpfa W i sacifod gl g | RIw &
PRI BT JH 811 R ITB Sifrardar &1 f=ea sro-it faa=rar ar siermar & sgyfay & R gar g1 afe ag
Y[ HfSTZAT 3R TR B ¥ P P T T ST P 3UTT b PRUI el 8, d 7T Wi &)
ST @ 3R 3P BIY-UTd A8l f3d Hebd | WR S fe &1 a1 Arg<ll el Ugd o Sieat Sl A8l 3 g¥ar ot
B 1 U PR 3MU F91d & IR T T SI1aT g | WY oI UG 81 SITdT @ 99 Sraxar a1 Wiedar sedrar g
3R UM 3 AT o §, foRiva: geul | & 35 oftear af Sl aven & u € IR F R B
g T B 1 goul 1 ofiean 1 ot fRier gt B 1 ¥ o v @ 6 agd R S @ gl 7 7 31 &1 3@
A a1 g1 Woal & WA audl | AR g DI AaH T 3R U1 TR BT SHfa=arnT YT g1 g &7
AT 1 A HEA &1 SR a8t ghan & fob wrAaren wie dieT 7€ g "war auft sraei =ifed & gr1
39 Fi1 ¥ 3= T&m 1 faxar 7Y Y1 g @ 9gd RN Ora @1 iear g5 1 shad & SR 3Me amuRl #
af} aftwar fezars A<t 31 srferf™ & vy A 9ga A amurdt wft-wafl el oty srawma & g1y =Y s1ed, W
B P YT A 95 9 tfed Ft-s W wreard @ g ma g

SR T B Ugehs A1 IR T UY BT SR Ia154:
TR: YA o9 THTETd g STl 8 99 T Heardl 82
1. YT 3R b

2. DTIRAT IT HiZdl

3, TR SR faffear

4. &1 3R HSUI

Correct Answer :-

« HERarar viear
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9) oY aiTelt g SITUQT BT UG T §W & FRUI & WIATHR A S TH YHR BT MATYYT 3TN WH-F RS
TAIIPR BT &, S Bt Wa Fgd 81 1Y §W F PRI TR THTG ST & AT MTHa HaT § 3R UG Iqdt
5T A 918X 11 & U1 1Y g & FRUI & Weuary & 3= 8 grar| afe ga 1 SR A9 g sk 9w
T ST P I FH-gHR g8 UganT ¢, Wt iy SN W 49 & fAg SR a1 e g st
TEY; SAT HR HIGA BT A11eT o g a1 g1f ug el aft &ig saifondt fopeft Wfaw & @ % et grew w19-
UTq ge S Gt S/ 1Y I ST, U B W I W U B gORT 3R R % P -3 T TR
FTY-IR A5 37 Y 98 R R TEadR Bl 15 "I § g14-IR digarat? @ i

Yg FT fAwg 3 T | JTAA ST 8 - SR 0 § 3R J1ed +u H| 3RyreA fawy a8 g e f&dt was
RT AR v 8) a1 Sriva Uy US| ed fawy 98 8 S WAt gRT g foha a1 Yakan o wwhan 811 &t
IS T URTS) A4 & fh=I1¥ 93 41 3fie  Sradiid B g of 32 ¥ a9 | o 2R P ggTs AT U
Tfe S IePI UNTH, U I1 U8 R Feq 3N1fS BT YU B ) 99 Iobd ¢ | fava & ey a1 3R g9 31
RN URFRITY F1 fasivar & SR ol gl € @ W 954 79 79w 3t upfa W Y Sacifad el 81 | $
PRI BT I 811 W 39| frardar &1 e = faa=rar ar ergmar @1 gyfd & eRugar g1 afie a8
IFYfa FI3ATEEl SR STufRr & v A & AW T A1 & AU & BRI I 8, TFsd Tifda gt
ST @ 3R IS BIY-UTd 78l fed Hobd | WR S fde &1 a1 are<lt el ugd df Siedt Sl Aol 3 s¥ar ot
T O HT PR 3T T919 F I H T SIaT g | WY 519 TGHIGI 81 STl @ 99 Hraxdr a1 Hiedr searar g
3R 4T Sy A7 ST €, foRua: geul #| & o) fedr df S wes T B ISP S AR B
95 T 2 1 gl Bt iedr 1 g fFiar gt B 1 ¥ oI usar @ b g R S @ gl A 7 539 BT 3@1
A YET B 1 NeaT & WA audl | FART e DI IR HdT 3R U TR BT Sfa=ary wem g1 g &7
AT B A YIH BT AT T8t ghar & fob Wrmarer I fist 78t W godar it gt ofed & grT
I et A Srueit Tei &7 ey -18Y Waan| ag |t 9ga W Ira &f Wedar g5 | shad & 3R sA® SRl |
aft fiwar feard 3t 21 erdferfa & v & aga I s Hfi-w ot fareht faty sraama # g1y 781 ST, |
T & YT 959 9 U Fit-Fft IR ¥ e R B

JUY T TR B UghR -1 U 7T U HT IR Ta154:

U &) ST Ueh UeTS! -1 & PR 33 IT 3iT+ig A F71 H3d W1 T8 A2
1. ST

2. TS

3. ded

4, ST

Correct Answer :-

10) =it amelt g€ smueT &Y YT A1 g & FRUI & AETHR I W) TH TSR HT SATAHTY0N YT TiH-
PR® AAIIPR il 8, 3 B HY Hed &1 DY g & BRU W YHG ST & ¢ Ppd BT ¢ 37 1
ITD! Ugd T 918 11 & U1 1Y g8 & $RU & waveuary & o= 1Y gl afg g &1 &Ror 39+ g
3R g FHET SITET S SH SIM-g3bR g UgardT g, A4 Y g1 IR 4 & fg sror &1 fAfdee g
SIR=3T ATEY; SaHT WR WIH BT UIieT fF g a1 g1+ ugaittl afe #is wifadt it aR @+ 5 vwa
TN FIU-UTd ge S at & Y 7 Mma; 1 Tl wR SR F 9 B g S TR 5w -
3® THR TY-IR A1S S Y 98 G¥a @RI Sead? Tl [P "I § g14-IR digAani? o i

UG FT AUy & =l § YTAA 3141 § - SR 0 § 3R I1ed ¥ §| 3Ry fawy a8 g e {6 vas
BRT AT SRy 81 a1 SRivT Tue US| ured fawy 9 § S waeT g1 g foaT a1 vakat o 9t gl &t
A U UTS] A1 F fba1 93 AT i | Sradid e gal ST 32 A1 54 | 9 2R B ggre 18 Ul
e ST IePI UNTH, U I1 U8 IR FeA 31fS BT YU B3 ) 99 Tod ¢ | fava & e a1 SR g9 31
yRUT URTRATT 1 faivar & SR o g1l §1 3 IR 9gd $© 999 ot Upfd W i sraefad &t 3| | &
PRUT BT JH 811 R ITB! Sifardar &1 = ot faa=mar ar siermar ot egyfa & srRorgar 81 afe a8
IFYfT FiEATEal 3R Ul &1 R B & AT T A1 & AU &b BRI gl 8, @ Tgsd Tiia gt
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1T § 3R ISP §1Y-UTd 7ol fed dbd | TR HS [0 BT U1 ATe ! SMGHT Ugd o) STeg] SaT A8l 3N s3ar ot
2 @ HHA B U TG b AT H T o1l @ | YT ST WA 81 ST @ 99 Srarar a1 Wedr sgardr @
3R U I AT et 8, faRiva: goul # | fal &Y Wiwar @) 3@ doon & JaH € IRt F 7Rk ot
T & 21 goul Bt iwdr 1 g it St 8 1 3T oI vsar @ fF 95 R S @ gHul A 7 S BT 3PT
A T 2 1 Near & W audl & FA%T e DI Ma=gHdT 3R U+ Ui BT Sfa=ary yur g1 g &7
AT H A URA &1 S 76t ghar & fb uraren aie dier =€) a8 woar auft sraeit =ifdd & gr1
I WeT A St T o7 fazary -7eY waan| a8 @t 9ga W 91a @1 Wfear g5 1 shiad & 8k sA® SRy &
i e s &t 81 srfe™ & v & 9gd @ Ut St et famie srarma # 514 16t sTerd, W
TR & YT A 959 9 ifia Fit-Fft IRt A Ge RA |

ST TN Y UG 19 IR T UY T SR 9154

U 1Y fHad SRR YU STA & T e wedr 82
1. g8 &

2. g9 b

3. fadr s

4, Qifd &

Correct Answer :-

11) f5eft ot g5 SMTueT B YTET AT g F FRUI F HHTHR I W Th YHR HT ATATYO! a1 TY-
HRE AAIDR BT 8, IUI DI HT HTd 8| HIY G B HRU W YHTT STA & T aTpe Ha1 g ok v
SUD! Ugd | G16% B & W1 1Y g & BRI & TualY o fo1 78 giel afe g BT SR e g
3R g FHST SIE 3 S SH-gZ1hR g Ugardl g, I e g1 IR w1 & g sRor &1 fAfdee g
SR TEY; FA1 U ATGH BT A11eT T g a1 1 ugah At S saifad feelt ar @ w2 5 wa
TR 1Y-UTd g& S o S HIY T MG, 4 FRI TR I § If FIE g 3o g ¥ el 3-
3P TR FTY-IR A5 &7 | 95 qRa | TGP o 6 P14 § F1U-IR Asara? o i

WG &7 favg & Tl & A 3T 8 - 31 U § 3 919w §| 31wy favy ag @ oy fodt vae
BRT FraRuT Sy §) a1 SRiva augl US| ured fawy 98 § St waeT g1 g foan a1 vakat o gt gl &t
A U UETS] A1 % fp1Y 93 T7 e | aradid $ed 9ol o 32 A1 59 | 91 2R B ggre 18 uh
Tfe 3 I ToB YA, U T1 U WR e 3Nfe &1 Uae B3 o) 99 9hd & | Fawa & aren a1 sRared 819 &1
yTRuTT URFRUTT BT fIwar & SaR ot g1 1 8 IR 95d PO 795 31 UPpfa W i sacfod w5l o | R $
PRI BT I 811 W ITPT Afardar &1 fzaa sra-i faa=rar ar sigmrar @1 sgyfa & R giar 81 afe ag
Y[ FT&TIAT 3R TR B ¥ P P I T WS P 3UTT b PRUI Il 8, dl AT Wi &)
ST 8 3R 3P BIY-UTd 78] fed Hepd | WR S fe &1 a1 "rgl el Ugd ol Siedt S¥dT A8l 3 s¥ar ot
2 @ FY B 3UA TG P I A T S16T 8 | Y Sd TGHTII 81 ST & a9 BraRar a1 Hiedr sgamar g
3R UM 3 |1 o §, foRiva: geul #1 & &5 oftear df seet aoen & au € IR & TR 3
g T B 1 Gul 1 ofiea 1 ot it gt B 1 ¥ o v @ 6 aga R S | gl A 7 31 &1 3@
A TR g1 Wear & Saiee Sraual B AR A D1 Taaddr SR U fad &1 fa=ary yu™ g1 3 &7
AT H A HRA &7 SR 78t ghan & fob wrAarer wie diet 7€) g wwar auft sra-it =ifed & gr1
I WeT A 3=t Tei o7 fazary -TY waan| a8 & 9ga W 91a @1 Wear g5 1 shiad & 3R sA® SRy o
af} oftwar fezars A<t 31 srderf™ & v 3 g9 @ amurdt weft-waft faeht faxiy soawma ® gy =1t s1erd, W
TR & YT A 9gd @ Ul Fit-F it srard F g wa |

SR TR B Ugeh? -1 IR 7T U BT SR Id133:
U=H: 1Y g & BRI & fovd dry & famm =18t grar 2
1, Afa wgd

2. AT g
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3. faen-gfe
4, WEUSY

Correct Answer :-

. WY

12) f5eft ot g5 SMMueT B} YT U1 g & FRU F HTHR I T Th UHR T ATATYOl a1 TY-
PR TAIPR Tl 7, I B YT $gd &1 1Y g S BRI W YUTT ST & T Tpd Hal & 8k ug
ITD! UgT A ITEY §1 & AT I HIY g F R & waeuaiy & fomm 7Y gian) afe g 1 SRur da= ghm
3R I8 AT SET P ITA TH-gHHR g Ugar g, 9l Y 1 R g & R sRur &1 e g
S ET; SO WR HIEH BN 91ieT 6 g ar g1 ugaitl afe $is ifad faft AR @ ) % e
TR §IY-UTd g T d S/ HY T AT, W7 1 R S G R B guRT SR Fe fF p -
3GF TR F1Y-WR A1 3T 1 98 TRa @) TGAPR B % "HIF § §1Y-WR digAaTa? 3@ Emi

WG &7 faug & =l & A 3T 8 - 3T U § 3R 919w §| ey fawy ag § forge 6t waet
BRI AR sy §Y a1 SRiYT usl US| Ired fawy 98 § o) waet g1 g) fpar ar vekar 5 qar g1 &t
T TP URTSY 1) & Y 83 a7 3iig § aTadid $Ra 99 off T8 31 399 & U 3R 3 58T g Ut
Tfe 9 1 IeHR U, TR 91 U8 W FeA 3Mfe &1 Uae &3 ol 99 9Hd ¢ | faua & arem a1 e 14 &)
YTROT URRUTT B fIIve & SR ol g1l 81 8 W 95d $© A7 S UPid W Wi Siaeifad gl o | TP
PR BT I 81 TR STP Sfrariar &1 ey eraei faaerar a1 siemar ot syl & srRu g 21 aft ug
IFYfT FIEATEET 3R STuRrN & R B & SFWITH T A & AUTT & BRI gl |, @ T Wiva &
AT & 3R IP BIYU-UTd 81 fed Hopd | WR S fae 1 a1 AgHl el Ugd ol Sied] SdT 81 3 gar ot
T @ FU B 3UA TG P I A T S16T 8 1 Y S TGHTII 81 S1dT § a9 Bravar a1 Hiedar seamar g
3R Y S | o ©, faRiva: geuy 7| f&r &Y e @ STt aoon & qu € RS F 7R B
g T 71 goul 1 ofiwan 1 g i gt B 1 O o v & 6 agd R S 9 gl A 7 31 &1 3@
A a8 | Near & WaId audl § FA% e DI A= HT 3R U TR BT SAfa=ary yu= g1 g &7
AT HIA T UM 7 SR 78t ghan & fop wrmAaren Ik dist 78 a8 dwar aut ot =ifda & gr1
I WeT A St T&i &7 fazar -TY Waan| a8 @t 9ga R 91a @1 fear g5 1 shad ¥ 8k sA® SRy &
WY e fears &<t R1 erdeif™ & 4 & 9gd | oarardt i-peft foredt oy sraama & g1 ) S1erd, W
TR ¥ 4T A 9gd @ ufsd F-w o T § gg W §

JUR T B Ugh -9 IR 7Y U BT SR Id153:

=: fhedl R § 9gd | ATURT 59 U 9 g1Y 781 STed?
1. 3fgrf

2. SRTH

3. YHRT

4, AR

Correct Answer :-

. 3fgi

13) Tt Smelt g€ SMUST Y YIEHT a1 §& & BRI & AIETER T S TP YR T ATRTYON SYaT K-
PR TAMIPR AT 7, I B YT Hgd &1 1Y g S BRI W THUTT ST & T Tpd Har & 8k ug
IS Ugd A 918 14 & U1 1Y g8 & PR & waveuary & fom 1 gianl afe g &1 wrRor 399 g
3R I U WU S ITA TH-gIHR g8 Ugar 7, 9l By 1 R g & e SR w1 e g
ST ATEY; SaHT WR WIH BT UiieT fF g a1 g1+ ugatt| afe wis Sifadt it ar @+ 5 e
TR §TY-UTT g T A S/ Y T TG, 1 11 TR S 3§ e 1S gt o Fe e orgd-
3G TN BTY-IR TS " O 98 Ta WIRI TaaTp? Bl [P "SI 3 gT4-UR disAari? && i
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4g BT fawg g1 U1 & AT 34T § - 3R U | 3R 91e7 U H| 3R fawy a5 3 foraet {6t wae
BRI AR sy §Y a1 SRIYT Tuel U | Irwd fawa 98 ® o) waet g1 R fhar ar vekar 5 adar g1 &t
AT U UETS! A1 & fF1Y 93 T Mg | ITadiid $ed =9l ST 32 A1 34 § I 2R B ggre T18 TSl
e S ISP U, F5U T1 U8 R I 3N BT YU B9 ) 99 Tobd € | Fava & q1e a1 SR g9 91
UTRUT U 1 faRivan & SR ot g1l €t @ IR 9gd $© 99 @t upfa W i sradfad Wt 31 | &
PR BT 811 W 3P Afardar &1 fFzaa sro-ft faasrar ar sigrar @) gyfa & sRurglar 31 afe ag
SIY PIETFAT SR STURA Y g B F WA T ATGH b AT S PRI GId1 8, A AT WfHT g1
ST § SR S §TY-UTa TE) e T | W S e o1 a1 Arew st ugd o) Sied) Svar g ofi svar oft
2 d U B 3UN T S I F T 1T 3 | YT S IGUT g1 o7l ¢ 99 SRl a1 Yiedr wgerar @
3R U I AT o 8, faRiva: goul #| el &Y Wi @) S99 oo & JaH €Y IR F aAReH ot
5 7€) 21 7ol F1 ofivar At I Fiar St € 1 39T oI s € b 989 R M @ TE1 A 7 S 61 ST
A vaT 81 Near & WA audl & FA%T e 3 agH T 3R U Wi BT Sfa=ary yu g1 g &7
HIHT DI | UM BT 3Ira g€t ghar @ 6 Wimaren arive s =€) a8 godr a4t st wifed & gri
I WeT A St Tem o7 fazary 1Y waan| a8 @t 9ga W Ira @1 Wfwar g5 1 shiad ¥ SR sA® SRy §
o} oftwar fezars 3 81 arderi™ & v A 959 A ot wft-waf el Ay srawma # g1y =1 ST, R
T F YT q 9gd A ifsa sl-soft sard S ge A ¥

SUY TR B Ugeh? -1 UD 7T U BT IR TaT39:

T g fdw &1 a1 Ared e ug <« T Hear
1, SIAT G §

2. QIR §

3, SITA1 761 §

4, FSAI TR ®

Correct Answer :-

. AR

14) 5t ot g5 SMMUTT B YT U1 g & FRUI F AHTHR I W Th YHR T ATATYOl a1 TY-
PR TAHISR Tl 7, I B YT Hgd 8 | 1Y g & BRI W YUTF ST & T Tpd Har & 8k ua
ITD! Ugd A 916 811 & [T 1 1Y g8 & $RUI & wa=uary & fo=m 7Y gianl afg g &1 wRor 3a+ ghm
3R I THE S % ITA TH-gHR g8 ugarn §, 9l Y 1 R 4a & e SR w1 A g
ST TEY; 3aHT WR WIH BT IRt fb g a1 g1 ugattl afe #is wfadt [l e @+ 5 e
TR §IY-UTd g T d S/ HY 7 T, W 1 R S | R B guRT SR F F h G-
3F TR T1Y-IR A5 & o 96 T TN TEaPR o 6 P14 § §1U-IR dAsAara? o m i

WG &7 faug 3 Tl & A 3T 8 - 3T U § 3 91w H| 31wy favy ag @ e fodt vae
BRI AR sy §Y a1 SRIYT uel U | I fawy 98 @ o) waed g1 g) fhar ar vakar 5 gar gl &t
IS U TRIS] A1 & {5 98 a1 3fFig A Iraeia $ed =t o @ A1 3a4 § I 3R F1 3818 TS uet|
e I S ISP U, FFU I1 U R Fe IS BT YU B9 ) 99 Tbd ¢ | Faua & q1e a1 SR g9 91
YT URTRT 1 fadivan & SR & g1l §1 & IR 9gd $© 999 o Upfd W Hi sraeifad &l g | T &
PRI BT I 811 W ITP! Afardar &1 fFzaa sra-ft faa=rar ar sigar @1 sgyfa & sRurglar 1 afle ag
AFYfT FIEATEET 3R STUREN HF R A & SV T AEH & AUTT b BRI gl |, @ T Wi &
SITdT 3 3R S IY-UTd 18] ot Aebd | W b et o1 a1 Aet Siraw! uger Y Siedt S 181 MR Svar ft
2 @ U B U TG F AT H & o1l @ | W ST WA 81 91T @ 99 SraRar a1 Wedr searr @
3R YR 3 AT ot 8, foRiva: geul #)1 & 35 oftear o seet aoen & a8 IR & wHReH 3
g T 71 Goul 1 ofiean 1 g i gt B 1 ¥ o v @ 6 aga R S | gl A 7 3% &1 3T
A TRar g | Wear & Saiee Sraudl B %1 A @1 AT iR U fad &1 fa=arny yu™ g1 3 &7
AT 1 A HRA &1 S 78t ghar & fob wrAaren wie dist 7€) g "war auit srai =ifdd & gr1
I WeT A 3=t Tei o1 fazary -TeY waan| a8 @t 9ga R 91a @1 fear g5 1 shiad & 3R sA® SRy o
ot sfiwar fawars &t 81 srferf & va & wga 9t sl fdft faty soarma # g1 =16 STerd, W
T ¥ YT § 9gd 9 ufea sl-soft sard S g A ¥
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IUYE TR Y UgH 18 IR 7T Uy BT IR 9d133:

%?\ﬂm&maﬁmmgm$w%m&mﬁﬁm§qmﬁﬁwaﬁw

1. 09
2. 4Y
3,98
4.9

Correct Answer :-

15) Ut qroft Siftre o= @1 ST = |
3R Y e &¥, Siug faa gy |

o9 & o1 a9 g3t ATy, 3 g @ H A
e SARART fire 7ar, ue Iar A |

ST UL P UgHR 1 IS 7T U HT IR TaA139:
- 3R &Y fiad Y ST R E 2

1, AR &1 ot g @

2. 3R I off wifq et

3. 3RI &t it gy

4, 3RI &1 oft o et

Correct Answer :-
. 3Rf &t ot wifa o

16) Ut aroft Siftre w9 @1 smaT @ |
3R B e v, g Maa g |

Sd H AT a9 g1 ATEY, 36 51§ F A |
T ARART fire war, Sue @ A |

IUE TR B UgHR 19 U T YUY HT 3T Ia153:
WA- T BT ATUT WRP F TgT areqdd & —

1, 30T @) &1

2. T BT HSR Bl ST

3. B=A-qT B ST

4, faferd g1 ST

Correct Answer :-
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17) T aroft sifere w9 &1 emur @ |
3R @ e v, omug Maa g |

o9 # T 79 8 ATEY, 3 g 8 H AT |
T e fiye o, Sue = A |

SUY T UL P UeH 1 IR 7T GY 6T IR I154:
WA - U Uil o 82

1, Hiddr

2.Uq

3.3%

4, dlcdh

Correct Answer :-

18) WY aroft sifere o= &1 suT Wi |
3R &1 2fiaa #v, 3Mug Maa g |

o9 & o1 a9 g Y, 3 5 @ F A |
T4 i fire o, Sue 3@ A |

ITT TR P UeH 1 IR 7T YUY BT IR Ta134:
T - Rgd WA R A mdfa i 2

1, had I

2. Hac faud

3. dad UH

4, IR gt

Correct Answer :-

. IWiad gt

19) Ut qroft Sifere 71 &1 U W |
3R o1 2fiaa v, 3Mug Maa g |

o9 & o7 a9 g9 ATy, 3@ 9 ¥ A
g T fire o, Suw ar argl |

ITH T U=IIR B UeHR A9 U 7T UY HT IR 9153
U - S T9g A9 $ iR T g =g
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1. fa=oran
2. gl

3. 3BHR
4, AT

Correct Answer :-

20) U aroft Sifere w1 1 muT @R |
3R B e Y, MU Maa gie |

oTa & o1 a9 gt ATEY, ora g g WA |
T IR fie o, due 3@ A |

SUY T TR P UeH -1 IR T UY BT IR Ta133:
T - S Ur A W wrad g o

1. fa=fe

2. UhIRI

3. 3EPR

4, Yl

Correct Answer :-

21) U qroft Sifee w9 &1 sUT Wi |
3R B! fiaa $v, 3Mug Maa gy |

oT9 & o1 a9 g3t ATEY, 3 g @ § e |
Ha diftram fire wan, Sue @ A |

I TR B gD 1 U 7T UY T IR Ta153:
TR - EHR P UM B A T g1 82

1. Bae I 1 YIfad

2. Had TS &1 Wit

3. A SR P U

4, SR gt

Correct Answer :-

o SWRIad gt
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22) Ut qroft Siferg 791 &1 ST @l |
3R B i oY, Mg e gy |

o9 4T 99 g9 ATEY, 3@ ¥ § H A |
T AT fire war, Stuw Sar |rg |

ST U $I UgHR -1 IR 7Y YUY HT IR qaA139:

U - {1 w41 §us Hfd & i fFam yoriRra far 2
1. ifd A

2.5

3.9

4,914

Correct Answer :-

23) Ut amof SitTE 79 ®1 emm E R |
3R ) i+, Mg e gy |

9 § AT a9 g ATEY, 3@ 5§ § A |
Tq AT fire o, Stuw Sar |rg) |

ITYE U= B UgHR -9 U ¢ YUY HT 3T 133
U - {1 $U U ST S FTFIAT g 2

1. E&I YR B ST B |

2. 3 ST 3

3. 3YPR e AT 3|

4, RGN 3T STl 5 |

Correct Answer :-
. 3fYPR e gl

24) Ut aroft ifee w9 &1 SUT W |
3 Y Xfiae Bv, Mg e gy |

oIF § AT a9 g1 16T, 39 51 3 J A% |
T REART fire war, Siue @ A |

IUYad UL &1 UgH ) YD U UY T 37X Ja1sa:

U - O[d $fd $ HaR SFUSR 4T df TS U F1 781 UT?
1. 599 Y Bs Ao

2. RSB

3. HH-GHH

Page- 35



4, SR PTAY

Correct Answer :-
. SWPHTAY

25) Wt aoft Siftre w9 @1 T W |
3R o1 2fad Fv, 3Mug Maa g |

19 # YT a9 g3t A, 9@ g g HATE |
T RmaART fire war, Sue @A |

IUYE U= B UgHR -9 U 7T UY HT 3T 133
T — TR & 3N, SR DI I B gielt 32
1. fogar g

2. U

3. AEHPRIAATH

4. 4UD Y

Correct Answer :-

. SEHRIQATHA

26) W qroft Sifee w9 &1 MUT W |
3R P! e BY, MU Maa 8g |

o # T a9 58 ATEY, 3rd 5l § H AT |
T TR fire T, e =T A |

ST ULIRI B UgHR -1 U T Y FT IR Ia154:
TR - 3FUPBR’ DT UGigar Ueg § 2
1. 99

2. g

3. S
4, ARG

Correct Answer :-

27) O qroft Sifee 79 &1 suT W |
3R @1 fiaa $v, 3Mug Maa g |

o9 & o7 a9 g8 AT, ora g g WA |
e SRR fire T, Sue S@T A |
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IUYad UL 61 UeH? A YD T U BT 3<R Jd153:
W - Hi T dielt e S w1 g 82

1. Fad FHear fiye o g

2. $Id ORI DY Y& e g

3. IWied gt

4, $9q Gg o1 G FAad 31

Correct Answer :-

o IWiad I

2g8) Ut aroft Sifere w1 &1 3T W |
3R B xfaa &Y, g Maa g |

o # o1 a9 5 ATEY, 3rd 5 8 H AT |
T TR fie T, Sue 3@ A |

SUY T UL P UgH 1 YD 7Y UY BT IR Ia154:
W= - <3MTUE M giw &1 arf w82

1, 30 DI AN T

2. 30 I A T

3. 307 &1 Wifq et

4. QI DI R EI

Correct Answer :-

T E o ol I RREE

29) U qUft Fifere 79 &7 Ut W |
3T &) 2t B, 3mug Maa 8 | |

9 H U7 99 g9 A1, 3F &3 & | A |
| RERT fire T, §ius 3@ aE! | |

ITYE TR B UgHR A1 IS T Y BT IR Ja1gd:
- Hid St aroft Sia B Fed | 2

1. Titad

2. HIat

3. faeTm

4, Hidt

Correct Answer :-

. Hidt
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30) fsdt STl g SMUST B UTSHT A1 g & BRUI & AIHTPR U 9 TP WHR BT ATATYOT 3ar Y-
PRE AAAPR giaTl §, U B 4T Hed &1 HIY g P HRUI TR YUTT ST P RIT 3Mpal Har § 3R g
IAP! Ugd A GTEY g P [T HY g & SR & T@euary & far 78 gian afg g@ o1 R da=
TR 3R I8 AHST ST b S - §& Ug a1 g, a1 1Y R IR 4a & g o &1 ffdee
THT SRS A1EY; ST R AT ST afet o g a1 g1 ugeRtt afg s suifad foreht faw @ we %

" JREIR GTY-UTd g SR A S 1Y 7 JTT; g §RI 1 R ST | A B gt na Fe fF wa
IMH-AGF FER BTY-TX s 3" Al 98 T¥a AR} Tea®HR M 6 "$H & g19-W dgAara? 3@ "

yg BT fqug g =ul # R 3(1eT @ - 3R U A iR |1ty U # 1 378y fawy 98 © e faedt wae
ERT AR 3RIYT 8 a1 3RivT T US| u1ed fawg a8 8 oY waeT g1 o) favan ar Toan 5 adar gt | &
TS U UgTSl et & fHaR 93 a1 3T A Irasiia HRd Ta o1 38 A1 3a & [0 W B 58T G
Sl afg 3 SFY Sodr UNM, 5T a1 08 W Te 3Nfe &1 Uael 3 ol 99 Gdhd ol fawa & weg an
wm@%ﬁmﬁ@ﬁﬁﬁﬂw%mﬁ@ﬂﬁ%wmwmﬁwﬁwaﬂ
TSI TEdl &1 FAR B PRI BT I 84 W ITD! SAfartar o1 F=ag s faa=rar ar srerrar o)
IFYT & FRT ST 31 Af T8 Sy FidATEA SR Smuftrl F R FA & M T IS & SAUTT
P PRUT B &, ol HIs Wifdid 81 Sirel & 3R IS9P §1Y-Uld -8} ied Id | W & fda &1 a1 dgt
3t ugd ol STt S¥at a1 iR s¥ar ot B @ WU B 31U Fa F ST | O ST 81 Y g
TGUTTTA Y STl & 99 BreRar a1 Wiwar sgarn g SR Ut S a1 si7arn 7, faxdiva: goot o | f&a) o5t
WiFar @ I doon & A &) IRIDT S AR Dt avg el 71 gl B Wear 1t 1 e gt 31 3w
T USdr ¢ 7 950 M oW A Iul A 9 331 B 3&T o IaT ¢ 1 Wivdr & Waieie saual # o0 981
P TaRgTar 3N ATt MFT BT SAFITATT W 1 F T ATHAT F31 A HRH B7 Puma gt gran &
HIaTeT IR TeT 78) T8 woar a4t Srasit wifeT & gRT 39 Wit & 3rust Y& o1 famary 7Y w@n
g d 9gd WL I1d 3 Wear g5 1 Siiad & 8k 3M® samurR) # off fiear fewrd &t 31 srferfR & v @
Tgd I A -3t feelt faRie sgaara & g1y =16t sTed, R 89 & 49 9 9gd 9 ufea -
e ¥ 0 R 8

ITYE TR $I UGH - T T Uy HT 36X Jadrsd:
UR: HY P AT HRUT BT T §IT SR} 8] 82

1. Uds

2. Uiy

3. UMY

4, fAfde

Correct Answer :-

Topic:- Sanskrit (SAN)
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3 : [
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RIETT |

4,

Correct Answer :-

i |
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) -~ = i -~
U AT ST A1 [ ?

| IR, |

ARG |
R |
T RIS T |

Correct Answer :-

R IRMEH |
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PSR! [BHI I ?
TR |
TR |
, i
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Page- 39



Correct Answer :-

S|

4) . = = C_~
G HIH: dIdRY d HAdHd[d -

TR |

1

 IOHENGH |
A ATEaEH |
, HETEICENGH |

Correct Answer :-

T THIE SR |
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¥ TEHENY 3¢ A SRl -
I_GE'WLI
2 ?lG[’l
g |

q4: |

4,

Correct Answer :-

7)

qTE B T 99 S /A A o —
_ HeEE
T gl R i |

AFST |

4

Correct Answer :-
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Correct Answer :-

ATINIMIEIG: |

10)

!r\ [m = =, P . -, 0
QAU I SlEH Al dUTdl ?
FHNERT |

MRS |

. [N N

- HIAERITHIHA |
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11

) o~ Y ~
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el
O
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N .
; hHERAN |
T
4'3h_cﬂT|

Correct Answer :-

12)

AT ST Fighcd o AR, R ?

1 3Rl |
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| el |
TR |

Correct Answer :-
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| e |
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w
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Correct Answer :-

Hisg: |
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N
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FUTAE: |

4,

Correct Answer :-

| SFE: |
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Correct Answer :-
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| ECEECE
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Correct Answer :-
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Correct Answer :-

10

4.

Correct Answer :-

18
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S HG [rqed TIdaTash: -

[ =

| IECE T E

1

TTaA-Hg &
2. I

CEEECREER

=

gA-Hgled:
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Correct Answer :-
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o
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23)

FICRY, Tl @t ?
1. 1 I
N
Y |
2.
N
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Correct Answer :-
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dl |

24) o N o,

TOTeaT WahT TeRTTnT AT add -

.
. STEATTCHT

Correct Answer :-
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TEhTATH
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SR g |

BEGIIAG |
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JEENIIRTTG |
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Correct Answer :-

® SRy 56 A Wk -
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, |
,

Correct Answer :-
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ST AT T 9 ATH -

-
, AT FOTeATSTIT:
Correct Answer :-

QTEATSTTT:

31)

FAEY 0TS RATH, STl (o HIAH Tehcd THGH. ?
| T |

2. l [

AT |

, TERTRGH |

Correct Answer :-

Page- 51



32)
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N
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, SeRAE: |

Correct Answer :-

33) . At
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2. Y =, |
3. S I
&ad |
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Correct Answer :-
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Correct Answer :-

7 T R ST S 2
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Qe |
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, AERRA |

Correct Answer :-
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Correct Answer :-
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| T P A |

ST AR A |

| ST YT AN |

, S 9o A |

Correct Answer :-

SR T Al |
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, i |
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Correct Answer :-

44) Fi ¥ 1 1
Al ST Y & ?
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, <h |
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Correct Answer :-

45)
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T THATOT JeA TS
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54) . -,
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55)
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Correct Answer :-
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Correct Answer :-
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| JEE M |

geRTd vid: |
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Th: WI: |
4,
Correct Answer :-

| T A |
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REEEECET Y

59

* HrgeEl v igeEl e 3 SulETR e g ?
2|

, JIEHId |

Page- 63



T a |
3.
TSR |
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Correct Answer :-
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